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2x-1=x+3, x=_4 .
4, 4.
1. IX4-yi=
logg2x=210ggX, X=

N

3. x3+bx?+cx+d=0 1-1,=, c=

4. Ix2+7-4=0, x=

123
5.4 50=
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7. ABC 60 .M AB ,N AC
AMN

10.
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13. sinB :%, cos20 =

14. tan2x=1 = .
15. 30° 5 , = .
16. ABC b 3 ,C 4 LA 30° , ABC

17. (.2,—3), -,

18. , G.49,

19. 3x+4y+1=0 =
20. y2-8x+6y+17=0

1. X4+5x3-7x2-8x-12=0.



2. ABC , A
:BD=CD.
3. a=4,b=5,c=6,
cosC.(2) sinC,sinB,sinA.(3) A,B,C
4. 2,3) (-1,4) , ,

D,

A,B,C.(1)
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(X-Y) (X+y) (x3+y?) .
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-1.
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5. -24
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7. 15.

8. 144°

9. 2 : 395 , 3.14159265.
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5
15.--/3
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16. 3.

17. x+y+1=0.

18. x2+y2-6x-8y=0
1

19. -
5

20. (1,-3)

1. 2,-6,0 ,w?2.

3 cosC:l sinC=§J7 sinB=i«/7 sinA=1«/7
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X+l x-1_10
x-1 x+1 3
3x2+kx+12=0 , K.
3 -1
2 4 6
7 0 5
300 700
|Oglo _7+|Oglo _3+|Oglo 1
tan(870° )
1

cos2x=—, X
2

361t ,
fx?-2xy 3y?=9,
Tax?-Bxy 6y?=30

12 64
) 1/— + 4/90000 +61/—
25 27
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X

ABC AD,BE,CF, H; HD
EDF.
45° 60° , 1 ;
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6(x2+1)=10(x2-1), 4x2=16,x=* 2.
k?-4x 3x 12=0,
k?=12% k=% 12
=3x% 4x 5-6x 7-4x 7+2x 5

=60-42-28+10=0.

=log,, ( g)x L;Ox 1) =1o0g,,10000 = 4



tan870° = tan(900° -30° )
= tan(-30° ) = -tan30°

1
V3
cost:E, 2x =2nm n—,x:m‘[i U
2 3 6

©O) A= A, B= B ;
(i) A= A ,AB A B =AC A C
(iii) AB A B =AC A C'" =BC B (

ABC— A" B (C -
=122 +3 +4° =169 =13
32+42:52, ’
1
—x 3x 4 =06
2

“ =% J(B+4+5)(3+4-5)(3-4 +5)(-3+ 4+5)

=6 ”
=6X 6 =36 -
R , 4mR=36m, R=3.
4 R%=36m
3

2x2%45xy-12y?=0

(x+4y) (2x-3y)=0,
x+4y=0,2x-3y=0.

| ix?-2xy+3y?=9 I fx*- 2xy +3y? =9
+x+4y:0 %Zx-sy:O
« ),
i _4 i, -4
¥X1—3’\/§ .!.Xz_ 3\/§
. 1 . 1
1 :-—;\/é ] :—‘\/é
Tyl 3 Tyz 3
¢ ).
\|,X3=3 ‘I,X4=-3
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T1Ys=2 TYs=-2
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6
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= 3+10J§+245

166Vf_

r r 1 r
T+1:C12 (2X3)12 (;)

:Cr . 212 r. X36 4r
12

36-4r=0,
r=9.

C;, 2% =C},32° =1760
AD BC,BE CA,

A,B,D,E
ADE= ABE.
F,B,C,E ,
FBE= FCE.
C,A,F,D .
FCA= FDA.
ADE= FDA,
EDF.
E
B
B=45° , C=60° , A=75° .
AC _ 1
sing5° sin75°
J2
dn45 _ )
AC = = :\/é_
sn7%° ﬂ(ﬁ+1) 1)
2 2 2

s:%x 1x (/3- 1)- sin60°

1
=5 @ /3)
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3
[(@z- b*) " (a b?)
1 1
_6|og)(:§|oga+2logb+|ogc

(3 02)4, _JE_
1000
r, .
a, B v ,
b .
y=3x2-7x-1 , X
(D)y>0; (1n)y<0.
1+ 1o =1+d9n2x, X
1-tgx
, a; a'
1954
’E 1 ti r1 ,
=(@?b?a2b2nb?)3
3.1 3.7 1

(a2'2p”2'7)3
=(a

1
=(a® b%)?
2
=33
1 1
logx 6 = loga3b?c
1 1
X6 = a3b’c

x = (a3b?c)® = a’b*c®
(3.02)4=(3+0.02)4
=34+4x 33x 0.02+6x 32x (0.02)2



+4x 3x (0.02)3+(0.02)%,
4 0.01, , 3

(3.02)4 =34+4x 33x 0.02+6x 32x (0.02)2
=81+2.16+0.0216

=83.182
a, b, c,
c2=a2+h?
2
:}T[ (E)Z:ET[ C_
2 2 2 4
1 a’+b?
==T
2 4
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=—T0 (=) +—T11 (—
2 (2) 2 (2)
= +
2r. a,
3a? = 4r?,
-2 f3
3
3 2 3
V:azewﬁo
3
SENES
9
a __b
sn 180° -(B +r) snp
asinB _asinB

b=sin 180° -(B +r)  sn(B +r)

7, 1, 61
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2 6L
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X ]
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N 0
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y>0 X :
(_00’7-«/6_1)’(7+\/a'+00)
6 6
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(7-J6_1 7+Jﬁ)
6 ' 6
¥
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- Ol 02 ’ A1A2,
A Ay . 0 0,0, , 0 O0A AA,.
1 1
OA:§(01A1+02A2):§0102
010, , 0 ,O0A AA,
, 0; 0,

COSX + SinX

COSX - SInX
cosx+sinx=(cosx+sinx)?(cosx-sinx),
(cosx+tsinx)(1-cos2x+sinx2)=0,
2(cosx+sinx)- sin2x=0,
cosx+sinx=0,sin2x=0.
cosx+sinx=0 ,tgx=-1

T

= (cosx +sinx) ?,

x=km -— Kk
4
sin?x=0,

x=kmt k

x=kim -= x=km Kk
4

h, R, 1,



a _ TRR+) _ R+l
d 2mR(R+h) 2(R+h)’
2a(R+h)=a’ (R+1).
R=+I2-h?,
2a(12-n2 +h)=a'(W12-h? +1),
(2a-a)/12-h? =al - 2ah.

h., h
(2a-a) I-(T) =al-2a T

h h h
(4a® - daa+a®) | -(T)2 = a”-4aa - |—+4a2(|—) Z,
(8a® - 4aa'+a’” )(Th)2 -dad - ID + (4aa-4a°) =0

h

|
A =(-4ad)” - 4(8a” - 4aa+a’” )(4ad- 4a%)
=16a(2a-a' )3>0,

h_ 4adz J16a(2a-a)3
|

2(8a° - 4aa'+a”)

_ 2aa + 2(2a-a')Ja(2a-a')

4a° +(2a-a)*?
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b,c,d
1) x-1 ;
(2) x-3 2;
B) x+2 X-2 .
D AB E
0, :EQ EA EB ED EF
COS2X=COSX+sinx, X

, 12 6

, x3+bx2+cx+d
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x2-3x-1=0 a,.B,

a+p =3, alpf =-1.

a 243 2=(a +B )2-2a B =32-2(-1)=11

o 2B 2=(a B )2=(-1)2=1

y2-11y+1=0.

ABC  AB=AC=4BC,AD BC ,

_ AB?+AC?-BC? _16BC? +16BC?-BC? _ 31
COsA = =

2AB- AC 2. 4BC. 4BC 32’
1
ZBC
cosB:coszC:Q:Z—:1
CA  4BC 8
o
B D o
S-ABCD .SH )
a, SAH=45°

SHA



AH s a,
AH:EJZ

2
SH=2.2

x3+bx2+cx+d x-1
1+b+c+d=0;
x3+bx2+cx+d  x-3 2,
27+9b+3c+d=2;
x3+bx2+ex+d  x+2 X-2 ,
-8+4b-2c+d=8+4b+2c+d,
c=-4.
b+d=3,
9b+d=-13.
8b=-16,
b=-2,
d=5.
QA,QB, AQB , EQ AQB
EQ EA,EB )
1= 2. ABF
AED FEB,
EA EF=ED EB,
EA- EB=EF- ED,
EQ2=EF- ED,
EQ ED EF

> COS2X=COSX+SINX.
C0S2X-S1N2X=COSX+SinX.
(cosx+sinx)(cosx-sinx-1)=0,
cosx+sinx=0,



cosx-sinx-1=0,
tanx = -1 X = Nt NS
4

icosx_isinx = i
V2 A2 J2
T T
cos(Xx + —) = cos—,
4 4
X+ =onm £
4 4
X=2nT 2nTt %

: ABC ,CA  AB BC
x-y) L (xty)
X y X x-y=12
JE6- (x+Y)I(6- X)[6- (x- )] =6
X=4.
6(6-4-y) (6-4) (6-4+y)=36,
12(2-y) (2+y)=36,4-y2=3,y2=1, y=% 1,
3 ,4 ,5

3244252
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B
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, 1g25+1g2- 1g50.
log 10 logyg

m , 2x2-(4m-1)x-m2-m=0

M ABC AC , M AB E, B
ME AC F. AEF ABC

3 4 437

tana tanb X*+6x+7=0
sin(a +b) = cos(a +b)

P7x+y- x-y=12

%xz +y® =136

P ABC BC , PA? =AB?+PB- PC

, ABCD , ANAB= AAD
A'ACC’ ABCD.
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1g2=1-1g5, 1g50=1+1¢g5,
=1g25+1g2- 1g50=1g25+(1-1g5)(1+1g5)=1g25+1-1g25=1.
: A =(4m-1)2+8(m2+m)=24m2+1,
m>0, A>0,

. BM.
AEF = ABF + BEF ,
BF MF,
BEF = BFM ,
AEF = BAM



AEF :% ABC

37=32+42-2. 3. 4cos6

cosp =2716-37_ 1

:tana +tanB =-6,tana - tanf =7;
sin(a +b)

cos(a +b) 1- tanatanb -6
sin(a +b) = cos(a +b)
7 x+y-x-y=12 (1)
'Ifx2+y2:136 (2)
(D) (x+y)- 7x+y +12=0,
Wx+y- 3/x+y -4 =0,
Jx+y =3, fx+y)=4

,X+Y=9,  x+y=16.

@) :
IX+y = )‘!x+y:16
1XC +y? =136 Ix?+y? = 136
« ),

IX+y=9 ( )[x+y:9
Tx- y=+191 fx-y=-+191
i 9+4101 | 9-4191
P e

I i

'|'y - 9- 4191 |'y _ 9+4191
£t 2 f72 2



( )‘|'x+y:16 )‘!x+y:16

%x- y=4 %x-y:-4

1X;=10 iX, =6

| |

1Y;s=6 1Y, =10
- 9+4/191 o9 J191
T2 7272 1X; =10
| | |
iy = 9- 4191 . 9+./191  7Y,=6
(e 2 f72 2

AP BC M,

APB=  ABM.
ABP  AMB, AP- ANM=ABZ,(1)
APC= BPM, PAC= PBM,
ACP  BMP, AP- MP=PB- PC, (2)
(1D)+(2), AP- AM+AP. MP=AB2+PB. PC,
AP2=AB2+PB- PC.

&

AB=AD AO BD.

A AB= A AD,

AAB A AD.

A B=A D, A O BD,
A OA BD,
A ACC ABCD.

1Y, =10

: A,B,C,
A-B=B-C,A+B+C=180° ,
B=60°



a,aq,aq?, aq

(aq)?=a2+(ag?)2-2a- ag2cos60° ,
a2q2:a2+a2q4_a2q2 )
g=t 1. g=-1 ,

a 60° .

60°
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73 2. 10,3
(25) + 01 +(2§)
X2+X<2 X ;
:cot22° 30 =1+./2. cot .
ABCD ,AC=BD,P Q R S AB BC CD DA
PQRS
ab ,EF a b ,a EF
b M a LN b ; : MN a
ilg(2x +1) +1g(y- 2) =1
110 =10 10"
Ig 10 1094
B C
2rcos— cos—
ABC r, BC AD = ZA Z
sin—
2
ABC , BC , A AD,
D, AB AE AD, E AB AC
F, :
(i) AE AB=AC AF;
(ii) ABC = AEF ;
X*- (M2 +D)x* +(2- q)x+q=0 1
ABC SnhA snB sinC
A B C q
1957

7.2 10, -2
2—-)2+01%+(2=) 3
( 9) ( 27)

1
= (2_5)E +i2 + —1 >
9 01 (64)5
27
= 21100+ —
3 16
= 102E
48

TX24X<2



(x+2) (x-1)<0
-2<x<1.

cot22° 30'= cot 425

1
) 1+_
_1+cosA5 _ 1\/§=1+\/§

sin45° 1
J2
P Q AB BC ,
PQ AC AC -%
1
RS AC AC >
PQ RS
PQRS ;
1 1
AC=BD PQ:EAC QR:EBD
PQ=QR.
PQRS
a B a , Db y «a ,
al By .
EF 0,WN «a 0,
MO’ O'N= EO OF.
EO=0F,
MO’= O'N, MN a




]@Qx{0+mw-3:1
1109 =10°- 10’
: (2x+1)(y-2)=10.
IOXY=Xty.
o 2xy-4x+y-12=0.
— X 2 I -4x+y-12=-2x-2y,
1 2x-3y+12=0,

2
=—x+4
Y 3

ng+4)=x+gx+4
3 3

2ver Tty a=0
2x* +7x- 12 =0,
oo T%49+96 _ -7+.145
4 4
17145
y_—
4
/145> 12
gl oy
4
'I'X _-7++145
iy o1 + /145
) 4
0 ABC ,E AB
OB OA B A, OE AB.

OEB ,BE =OEcot EBO= rcotg
EA = rcotA
2

AB:AE+EB:dam%+aI§)

ADB  ,AD=ABsinB,

0B OA

OE,



A B. .
AD = r(cot — + cot —)sinB
2 2
A . B . A
COS— SnN— + cos—Ssin— B B
=r 2 2A 82 2 . 2sin—cos—
sSn—sin— 2 Z
2 2

1
sn=(A +B
myhrs

B
COS—
2

=2r-
A

sin—

2

B C
2r coS— + c0S—
2 2

. A
sin—
2

(i) AB G, AG AD=AD AB.
AE=AD, AG AE=AE AB.
GC, GCI EF,  AG AE=AC AF.

AE AB= AC AF.
(ii) AE AB= AC AF, AB- AC=AE- AF.
ABC  AFF A,

ABC _AB- AC _
AEF  AE- AF
ABC = AFF

1 1- (2+)+(/2- q)+q=0, 1

1.
1, x-1 ,

(x- )¢ - V2x- @) =0



sinC=1,
sinA sinB

A+B=90°
2__

SinA sinB sinC,
C=90°
x?-2x-q=0
SnA +sinB =+/2
., SnA+sn’B=1
2SinAsinB=1.
(sinA-sinB)2=0.
SInA=sinB.
A=B=45° .
- q=SnAsnB =

_—
1772

1

2
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3x2-5x+(k+1)=0 K

a b c ABC , a2=h2+bc+C2, a
a b c X=C —b
a
P 60° ,
P
1.2, 2

ix?-2xy y -2x+2y=15
|
f4x* +3y* = 48

, AD,BC ABCD , ABC=90° , ABD=qa ,
AED=@ , BDC=y , BE=a.
_asinasinb BC = asinbsing
sin(b- a) sin(b- g)cos(g- a)
I3 D
T
P
E
afcoe
B C
AB ,C ,D
AD ,F DB . CD P,PA
Q PB CF R, OR AB , ;
a 1 2 ,
n , n ,
X15Xp, 2 Xp -
(1) X1:X2, sXn >
@) X;+Xp+ X
€©)) n

1:2
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A =25-12(k+1)= 0,

13= 12k,
s 1
12
a2=h2+c2-2bccosA,
a2=b2+c2+bc,
-2bccosA=bc,
cosA:-i
2
A=120° .
=] A =]
b b b
C C C
D Do D ——m
iy = Ry S 7 ™
! F\H ;, \\ P'r“ 5 \"c
H— ¢ e i) F
AB=a, AB C, BC=b
AC
BD AC, D
DA DE=c.
E EF BD, DC F, DF X
: , TI ,P . P
AB c , T cb. P PD CD
PC P AB ,PD P 1

DCP:%- 60° =30° , PCD :

PC =2PD

:r’

= pr/(1.2)2 +r?



=TT I2.
pry(1.2)2 +r? = 2m r?,
(1.2)2+r* =2,
(L.2)% = 3r°.

2
:nrzzﬁg?—pzlﬁ

J(x-y)*- 2(x-y)- 15=0

%4x2+3y2- 48=0

X=y+5,Xx=y-3.
iX=y+5 Lix=y-3
2 2 (”)I' 2 2
4x°+3y“- 48=0 74X+ 3y° -
i,
.i.x :g
1 =3 12 7
y,=-2 ':'y =_§
727
(i),
_-9+2J57 1 -9-2/57
7 fes 7
_12+2457 : _12- 2457
7 T
BDE ,
a _ BD
sn(b-a) sin(p- b)
_asinb
~sn(b- a)
AD =BDsina
__asinasinb
~ sin(b-a)

BCD . C=p-(g+3-a)

=P (-
=5 (- a)
BC _ BD
sing

sn(>-- (g- )]

BDsng _ asinbsing

" cos(g- a) sin(b- a)cos(g- a)



E
a| ol
B
CA CB, CA=CB.
E AD ,F DB .
ACE= ECD, BCF= FCB.
CAP CPB ,
PQ QA=CP CA,PR RB=CP CB,
PQ QA=PR RB,
QR AB
2p
1 _
1 3
a 2a a 2a 2p 7
X2 = (=)’ +(=)*- 2(=)(=)cos— =—&
1 (3) (3) (3)(3) 3.9
A7
X, =—a
3
7 7 7
X, =—x{ =(=)’& x,=—a
2 9 1 (9) 2 9
7 7 77
X, ==x;= (=) Xx,=——a
3 9 2 (9) 3 27
¢=Ix, e x,=1a

n

7n2
+(<)"a
3)



3

Gegr =9
-1
2
Xl
n
e
3
=i

—%[1 (or1e

.
’1- 1,

1- 1
9

1:2
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. : (D (2)
€H) 1g2=0.3010,197=0.8451, 1g35.
( Dlg 10
- iy’
2 1+i
€)) 12X2+5x<3.
(4 cosleb°
(5) 25T , 20 ,
10 ; ;
(6) a b c. a
AB, c b C D. : C D c b
, ABCD
& c
E E
5 b
2( ), :
ABC B=60° AC 4, J3  AB
BC
A B C L ,P . AB=BC=a,
APB=90° , BPC=45° . :(1) PBA @) PB
;(3)P L .
0 AB CD E, E DA
CB F, F 0 FG. FG=FE.
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(Dlg35= |g&27
=1gl0+1g7 -1g2
=1+0.8451-0.3010
=1.5441
2
(1-)° _ @iy
1+ 2
_1- 4i+6i%- 4i*+i*
- 2
_1-4i-6+4i+1 _
= > =

-2

(1-0)°  1- 8i+32- i
1+] 1+]

_1- 3- 3+i
1+ 1+i
€))

2X2+5x<3,

2x2+5x-3<0,
(2x-1) (x+3)<0.

i2x-1>0 12x-1<0
1x+3<0 1X+3>0
- 3<X<1
2
2X2+5x<3,

2x2+5x-3<0,

-1,
-2x2-5x+3>0

=(-5)2-4- (-2)- 3>0,

- 2x*- 5x+3 -3 %

1
-3<x<§- - 2x*-Bx+3 -2

2-2i

- 3<X<i,
2



_3<x<1
2

4
cosl65° =cos(180° 15° )

= cosl5
= cos(45° 30° )
= (cosA5 cos30°+sind5°sin30°)
( 1 . J§-+ 1 ' l)
2o 2 J2 2
_ J§-+1__ J6+4/2
o227 4
Ccosl65 = cos(180°  15° )
= cosls® = cosg
2
S = e N 1S
= > = 2 4
) S=mL@R+r), L 1R
=TT r2=25T11 r:5( )
R=20/2(  )=10( )
1=10( )
S=mt L(R+r)
=t - 10- (10+5)
=150Tt ( 2)
(6) ABD ABCD () ¢0.
a b
D b ’
ABD
a b a,b
c a,c b.
c a,b -
¢ ¢ , €0
}x X y
3
, c,D «c,b ’
i

X-y X Xty,



13[(x-y) +x] =2(x+y) (1)

i
T(x- 22 =(x-y)x+y) (2
@O @,
i 4x = 5X 3
Y- 4x+4=0 (4)
@k @, :
y2-5y+4=0,
(y-1)(y-4)=0
y1=1,y,=4
5
yl y2 (3)1 Xl = Z X2 = 5
i 5 R
X, == IX,=5
72 i
fy, =1 Yo"
1 9
X1-¥Y.1 = Z’X1+y1 :Z X, Y, :1’X2 Ty, = 9
152 159
4 4 4
AB  BC X Y,
X2+y2-2xycos60° =42
%xysi n60° =+/3
cos60° sin60° ,
X2+y2-xy=16
xy=4
, : X2+y2=20
2Xy=8
M+@), - (x+y)2=28,
D-@, - (x-y)?=12
3 X+y =27
4 x-y =+ 23
(5) +(6), x =7 /3
(5) - (6), y=7m/3
AB J7+43,BC J7 m3
&
PBA=0

PB=x,P L h.

€Y
&)
©))
(4)
(5)

(6)




APB

x=acosf , @)

BPC o _=__* @
sind5®  sin(q- 45°)

a acos

m @ x - k

sn45®  sin(g- 45°)
V2 (sin® cosA5°- cosqsin45®) = cosh
sing - cosq = cosq
sin@ = 2c0sH
tgh =2

sinq = E cosq = %

x—acosq—i h—xsinq—ga
NG 5

2 1
1) PBA — — 2
@ J5 b
(2) PB a

/5
B)P L

2
\ = asin(q- 45)
sin4s’
= a\/i(sine C0A5°- cosB sin4d5® )
=asind - acoso .

©)
(1., 8

I
Q

sind =
.4 A3,
X =+a2- x% - x

5x% = a?,
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,AB=c,BC=b=a,CA=a, ABC
a=b=c.
, AB=BC=CA=a, ABC
, AB BC CA
, AB=BC=CA, ABC
i



1966

1. 7, 5 12 , 5 5
) 1 2 , ?
2. 8 10 , 6
3.  LAC ) 0 .B AC ) A
a A B D a B C
D
4.
16x2-9y2+64x+18y-89=0.
&)
@) X . 8.
5.
IVx+1+.y+1=3
{xy-x-y+15:0
6. ABC ,BC=a,CA=b,AB=c.
(1) Ja Vb e
2 1) A'B'C', B'C=.4aC'A'=b,A'B'
=./c, A'B'C' .
3) ABC , - ABC ABEC
1966
1. 12 , 5 1 .4



Ci Ci =175

2 3 .
C2. C2 =350
175+350=525
2.
. AD=8,BC=10,CD=6.
0 0, JE F  AD BC . 00,
EF OE O0,F, O0FE
E  OfF , G,EG

EF? = CD? -[%(BC-AD)]Z =62 -[%(10-8)]2 = 35,

EG =./EF? - (O,F - OE)?
10 8
= 35 (252 =y
2 2
V:?lgx J34x (82 +107 +./82x 102)=?13>< \[34x 244
=223,

244.J__
&= /3
3

AD=8,BC=10,AB=6.

0 0 00, OA 0B  00;BA

A 0B H,AH
HB=0,B-0A =52 -4/2=./2,
AH = JAB?- HB? =+/62 -2 =/34.

=L J3ax (@ +107 + 87 % 107 =%x J3ax 244:%@_

3

=



ABD ,AB=a, BAD=0 -a , BDA=a -3,

BD _ a
sn(6 -a ) sin(a -B)
:as_in(e -a ). 1)
san(a -B)
BCD , CBD=6 -B, BCD=m -8,
COD _ BD
sin(® -B) ?én(nﬁ-)e )
_ BDsin(@ -
CD= pepr : )
1 @ _ _
D = asm(le -q )sin(@ -3 ).
sinB sn(a -B)
D AC ’ AC E . DE=h.
AED
D -6 -a) M
atBE U '
BED
D g0 -p) @
BE '
@ @
ho 290 -a)g® -B) 3)
tg(® -B)-tg(6 -a)
CED
L—sine 4
CD '
e @&
__ ag(® -a)tg® -B)
sind [tg(8 -B)-tg(d -a )]’
O Xy
16(x+2)2-9(y-1)2=144.
X+2=x ,y-1=y , &)

16x 2-9y 2=144,



12

N

X

<

-— =1,
9 16
(-V9+16,00 (+9+16,0),
@
-7,1),@3,D
2)

(x-a)2+(y-b)?=r
Fi(-7,1) F,(3,1)
(7+a)2+(1-b)2=r2,
(3-a)2+(1-b)2=r2.

b2+| AM| 2=r2,

b2+16=r2.
@ )
(7+a)2-(3-a)2=0,
10(2a+4)=0
a=-2.
(2)
(1-b)2+25=r2.
4) 3)
(1-b)2-b2+9=0,
10-2b=0.
b=5.
©)
r2=41.
(x+2)2+(y-5)2=41,
X2+y2+4x-10y-12=0.
@ :
@ /R A B
C X

(-5,0) ,’(5,0).

¢y
)

®3)

(4)

)
FAE N
ot Fa

F1F2,




AB,
7+3_

C =2, | AM| =| MB| =4. C=(-2,b),b
, ACM
| AC| 2=| AM| 2+ | MC| *=16+Db.
| AC| 2= RC| ?=25+(b-1)? =26+b? - 2h,
, b=5,| AC| 2=41. C (-2,5),
(x+2)%+(y-5)2=41,
X2+y2+4x-10y-12=0.
@
) , M=(-2,0). | Aam| =| wB| =4, A=(-

6,0),B=(2,0).

X2y2+Dx+Ey+F=0.
(_6’0)’(2’0)’(3’1) 3

}-6D + F=-36. (1)

2D+ F=-4. (2)

{3D+ E+ F=-10. 3
D, F D=4. F=-12,E=-10. ,

X2+y2+4x-10y-12=0.

€y

)
X2+y2+Dx+Ey+F=0. (&D)
(-7,1),3,1) : €y
~7D+E+F+50=0, (2)
3D+E+F+10=0. 3
€y y=0
x2+Dx+F=0. (@)
X (a,0),(B .0, a B (4
8,
(a -B )?2=64.
(o -B)=(a +B )*-4a B ,
(a +B )2-4a B =64
, o +p3 =-D,a B =F.
D2-4F=64. 5)
@ @ G

D=4,F=-12,E=-10.



X2+y2+4x-10y-12=0.

5.
fx+1+y+1=3, (1)
|
fxy-x-y+15=0. (2
(¢)) ,

X+y-7=-2yx+1/y+1.
(x+y)2-14(x+y)+49=4(x+1) (y+1).
(x+y)2-18(x+y)-4xy+45=0. €))

2) ) s U=x+y,Vv=xy,
ju?-18u-4v+45=0, (4)
lv-u+15=0. (5)
®)
v=u-15.
4 ,
u2-22u+105=0.
u=7,u=15.
o ,
v=-8,v=0.
ju=7, 1 u=15,
tv=-8; tv=0.
IX+y=71, ix+y=15,
1 xy=-8 1 xy=0.
I X=-1, I1X=8, 1X=0, 1 X =15,
ty=8 ty=-1; ty=15  jy=0
JJx+1+ Jy+1=3, Q)
%xy-x-y+15:o. (2
(€H) ,

X+y-7=-2x+1/y+1.

(x+y)2-14(x+y)+49=4(x+1) (y+1).

X2+y2-2xy-18x-18y+45=0. ©))
2)



X-15

y =
€) ,
X4-22x3+97x2+120x=0.
x(x+1)(x-15) (x-8)=0.
x=0,-1,15,8.
@ ,
y=15,8,0,-1.
i X =0, X =-1, 1 x =15,
ty =15 ty=8 ty=0;
Ix=-1, I1X=8,
ty=8 ty=-1

IX+1=uny+1=v,
ju+v=3,

IVx+1+,y+1=3,
TXy-x-y+15=0.

LuPv?-2(u® +v?) +18 = 0.

jutv=3,

1 2,2 2
fusve-2(u+v)® +4uv+18=0.

€y @) ,
u2v2+4uv=0.
uv=0,uv=-4.
€y :
ju+v=3, ju+v=3,
fuv=0; tuv =-4.
1uU=3, ju=0, ju=4,
tv=0; lv=3 lv=11,
FJx+1=3, FJx+1=0, PJx+1=4,
I I I
1 1 1
1Jy+1:O, 14y+1:3; 1Jy+ =-1;
1 X =8, Ix=-1, 1 x =15,
ty=-1, ty=8, ty=0;

(4)

D)
)

ju=-1,
tv=4.

"[\/XT:-].;
Pfy+iza’

iX=0,
1y =15



| X+1+,/y+1 (1)

1 xy-x-y+15= o ()
@D :
X+y=7-2\xy+x+y+1 (3
)
2(x+y)=xy+x+y+15. ©)
3 @&

Xy+x+y+1+4./xy+x+y+1=0.
JXy+x+y+1=0 Xy +x+y+1=-4.

;xy+x+y+1 0

ixy-x-y+15=0.
I Xy =-8
tx+y=7
I x=-1, IX=8
ly=8, ty=-1
6. :
(1) NERR , Ja /b
Jc : . Vo +Jc>A+/a
a b c ABC , b+c>a,

(Vb +-/c)* =b+c+2J/bJc>Db+c>a=(Ja)

Jb++/c>+a
Je+Ja>Vb,\a+b > e , Ja /b

2 Ja /b JE A'B'C'

oA b+c-a

2Jbc’

Ao P BERR R AL cosa S0 EHIETED & TR—1
A EEMEAE . CHEER AR AR OB REZATE.
3) az b= c, ;
Jaz Vb= Je. ABC A'B'C
ABC A B C



Ja=+b =+/c, a=b=c. ABC

ABC A B C



1978

1. -
2- 7
1. IX2-4xy+4y2-472
2. a.
3. y =4/1g(2+ X)
4. c0s80°cos35° + cos10°cosh5’
1= (V4ab™)?
(0.1)?(@%h™)?2
kx2+y2=4, k
AB ,C
,AMMN M BN MN N ,CD AB D
:1)CD=CM=CN;
2)CD2=AM- BN.
Iy
logg9=a(az 2),180=5. log;s45.
ABC
gA- tgC=2+.3. A B C
4.3, a b c
(1++/3)%2 =4 +23))
a B ,
3sinZa +2sin2P =1,
3sin2a -2sin2p =0.
Tt
a +2p =—
g 2
y=x2+(2m+1)x+m2-1 m
(Dm 8 0?
@ - m ,

I, . m=-1 0 1



I, s
1978
1. : =(x2-4xy+4y2)-4z72
=(x-2y)?-(22)?
=(x-2y-22) (x-2y+2z2).
r. 21T r=a.
a
r=——,
21T
L2 3
—nrla=n &2 942
821‘[ a 411
lg(2+x)= 0, 2+x= 1.
x= -1
=3n10° cos35° +co0sl0° sin35°
=sn(10° +35° )
=g n45°
_\2
2
= c0s80° cos35° +sn80° sin35°
=cos(80° -35° )
= coA45°
_2
>
1 1)%
. N -
5 =(27) 2 1
(10*)*(a’b *)?
33 _3
_2'10223 a?2. b2
1
:ibE_
25
Dk>0 , :
2
i k > 1 ] ) = 21 = _1
(i) y Tx
(ibk=1 —_ r=2
2
k<1 , X , =—, =2.
(iii) N



k=2 LA(0.2) K=1_1(0.2]

e

_1
=3 |r0.2) K=0 | v=2
(o] -
k\“‘—"ﬁf%’g,ﬂ:‘ W, b
i y=-2
k=0 |, y? =4
X y=% 2
x?y?
(3)k<0 ) - 4 +7_1’
| K|
: : y
¥
\\& 2
K=4
N U)K

1) CA CB,  ACB=90° .
ACM=ABC
ACD= ABC ,
ACM=  ACD.
ACM  ADC.
CM=CD.
CN=CD. CD=CM=CN.
2) CD AB, ACB=90° ,
CD2=AD- DB
1), AM=AD, BN=BD,
CD2=AM- BN.
log;g9=a, 182=9.
18b=5,
45=9x 5=18a. 18b=18atb,
logsed5=x, 36%=45=18a*b,



log,536%=10g;418a*P
« = athb _  a+b
log,g36 1+log,32
36=2x 18=4x 9,
logig(2x 18)=l0g;(22x 9).
1+l10g,52=2100,52+109,g9=2109g,g2+a.

logg2=1-a.
w=_at b _a+tb
1+(1-a 2-a
;|og%45: M
log,;36
_ 109,59 +109,5
log,;18 +10g 52
__a¥b
1+log,2°
:A+B+C=180° ,
2B=A+C.
3B=180° ,B=60° ,A+C=120° .
tgAtgC=2++/3 (1)
tg(a +0) = LI
1- tgAtgC

tgA + tgC = (1- tgAtgO)tg(A + C)
=[1- (2 +/3)]tg120°
= (-1-43)(+-3)
=3+4/3. )
(1),(2) tgA tgC x2-(3+3)x+2+-/3=0
(x-1)[x-(2++/3) =0.
X, =1,X, =2+43.
A<C, tgA=11tgC=2+4/3.
A=45° c=120° -45° =75° .
C 4J§,
a= 4\/5 = 4\/5 =
sin60° \3

8;
5 s
o 4B _4B_, &
sinds° J2

c=AD+ DB
= bcos45° + acos60°

= 4./6- §+8- %:4\/§+4.



3sin‘a +2sin’ =1, 3sina =cos2B
3sin2a -2sin2f3 =0,
. 3. )
SN2l =—=sn2a =3sin0 cosa .
sin2B +cos’2B =9sin®acos’ a+9sin’ a,
1=9sina (cos’a +sin“a ),
1=9sin‘a .
. 1 . 1
sifa =g.8na =2 a
sn(a +2B )=sino cos2f +cosa sin2f3
=sina (3sin“a ) +cosa (3sino cosa )
=3sina (sina +cos’a )
=3sina =1
Tt
a +2p =—.
B 2
3sin2a =2sin2f3
3sna cosa =2sinf cosp .
9sin®a cos’a = 4sin*B cos’B .
9sin®a (1-sina )=4sin’B (1-sin’B ).
sn’p =%(1-35in20( ),

. . 1 . 1 .
9sin’a (1-sn‘a )=4- E(l-Ssmza )[1-5(1-3SII‘12(] )]

=2(1-3sin’a )- %(1+ 3sin‘a )

=1-9sin‘a .
9sin®a =1,
) 1
sno == a
3
(D
& 2m+1s° 4m+5
y:%x+ - -
2 9 4
y _4m+5
7

0 ,4m+5:0,m:-%



) @e2m+l 4m+5p

2
_2m+1_ 1
2 2’
_ 4m+5_ 5
=- =-m-=.
4 4
x-y:§
4
m , m ,
m=-1 0 1 ,X,y
JAoe 16
y 4 & 2@2’
5 & 10
+—=cX+— ,
Y*27€ 25
2
9 & 30
+Z=¢X+—
Y 278 25
Py Py P
I,
(3) I:x-y=a I,

y=x2+(2m-1)x+m2-1
y, X2+2mx+m2-1+a=0.

(x+m)2=1-a.
l-a> 0 a1 , |

&1l ,x=-mt J1-a.

-m-+1-a,-m+-/1-a.
| 1, 45°

I
[(-(m++/1-a) - (-m-+/1-a)]v2 = 2,/2(1-3).

m

4 &

l1-a<0 a>1



1979

1. (z-x)2-4(x-y)(y-z)=0, IX,Y,2Z

2. : 1
1
1- 1
1-
1- csc* x
3 U1 U .
( ) MmN, m-N,.
2
4 b -
5 , : D yE
B A B syE , A.B
P . A
BAP=a , B ABP= . a
’ , ?
6. V-ABC , AVB= BVC= CVA=
: ABC
C
Fiy E
7. 1939 100 1979 500.
, ?2( : 1nx
e=2.718 ; x<0.1,
“In(1+x)= x. 19g2=0.3,1n10=2.3 ).
8. CEDF D CE
A, CF B.
BF _BC’
AE AC*
C
m
iy
D E
9.
19100  1g%200sin P2 16 00sin? L2 Ig800sin™* P2
& 49 & 49 & 49

? ( 192=0.301)



10. OAB 20,  h.
(1)  0AB P, OA,OB,AB | PD

PF| ,| PE]| | PD| - | PF| =| PE|] 2. P
@ P .| po| +[ PE| =] PF|
¥ &
DP
E
o : X
B
1979 ( )

(224G (¥-2)
=72-27X+X2+4zX-4Xy-4yz+4y?
=(x+z2)2-2- 2y(z+x)+4y?
=(z+x-2y)?
=0,
z+x-2y=0
Z-y=y-X,
X, Y, Z ,
X-y=a,y-z=b,
X-Z=X-y+y-z=ath.
(z-x)2-4(x-y) (y-z)=(a+b)2-4ab=(a-b)2=0.

a=b.
X-y=y-z, Yy-X=zZ-y. D4
1 ~ 1
1 1
1- 1 -—7
1- 2 2
CsC® X - ctg”x
_ 1
- 1
1+ tg?x
1
1
1_
sec? x




LW
AR, Ak T AR
L) n;+1n,

AF

F S R

m; W
m; +

my n%3

ZHREE

V3
A, &k
m, +n, my +1n,

mlvl + m2v2
ml + r]1 m2 + I'-]2
- mlvl(mZ + n2) + m2v2(m1 + mZ)
(ml + nl)(mZ + nZ)

anl + n2V2
ml + nl m2 + r]2
— nlvl(mZ + nZ) + r]2\/2(ml + nl)
(m, +n,)(m, +n,)

mva (Mot )+mpvo(mi+ng) 2 Npva(Mmytny)+navp(my+ny)
4. 1 ( )
5. :
P AB PC, C. PC=d.
PAC ,AC=d- ctga .
PBC ,BC=d- ctgp .
S=AC+BC=d(ctga +ctgf ).

S
ctga +ctgh3 —
g g D

6. - VA=a,VB=b,VC=c,
AB=p,BC=q,CA=r.
p2:a2+b2 , q2:b2+c2 , r2:02+a2 .

a+b'+c +a -(b” +c)

cos CAB=
2Ja +b'- Jo +a
= & >0,
Jaz +bz x’\/CZ +az
CAB

, ABC, BCA



VD BC,D , VA VBC,

VA BC
BC VD, BC VAD,
BC AD
ABC ,A BC D B C .
, B C
A
c
A D
ngiii..hhfg
X

100(1+x)40=500, (1+x)40=5,
40In(1+x)=In5.

1g2=0.3, g5 = Ig%:1-0.3: 0.7,

IN5=1n10Ig5 = 2.3x 0.7 =1.61.
In(1+x)= X,

: CD. CFD=90° ,
CD 0

AB 0 D,
CD AB.

ABC , ACB=90° ,
AC2=AD- AB,BC2=BD- BA.



BD _BC?
AD ~ AC?
BD2 =BC- BF,AD?>=AC- AE.
BD2 _ BC- BF
AD> AC- AE’
1 @

@

)

BC- BF _ BC*
AC- AE AC*
BF _BC’
AE AC®
BDF  ABC,
BF BC
— = 1
DF AC
BDF  DFC, DF_BF E:ﬁ. 2
CF  DF’ CF AC
ADE  ABC,
DE BC
— = (3)
AE AC
(1,32,
BF DF DE_BC
DF CF AF AC®
CF = DE,
BF _BC’
AE AC®’
k ( )
giOOsm“po
=2-=(k-1lg2.
2( )lg
, 2. K
0, k+1 ; K
1
12 (k-1)ig2s 0, )
I 2
JZ-E[(k+1)-1]I92<O. 2
T 2
€)) k< 14.2
) k>13.2
K , k=14, 14

k=14. 14



2+2-%>< 13x 1g2

s=21¥% , y- x 14
2 2
:ﬂ&%xamm
~ 14.30
k( )
a, =1g(100sin** %)
—2- -tk
2
1
2 L2
g
k S
1
[2+2-2(k-1)lg2lk
s= 2
2
1 1
= (-=1g2)k? + (2+ =Ig2)k.
(219K + 2+ 212
% -%©2<Q Sk )
2+ 21g2
k=+= 13.78
2(-=1g2
( 29 )

k ’ ’ 7
k=14 , a, =2-%(14-1)Igz
=2-1.9565>0,
s = 2-%(15-1)Igz

=2-7x 0.3010<0.

14 , 15
k=14, 14 ,
(2+2+1x 13¢ Ig2)x 14
S= 2 » 14.30.
2

10. (D) P (x,y).

0A

y=xtgo ,
0B

y=-xtg0 ,



AB x=h.

P AOB ,
|mpl@;L:mm-mm.
J1+1tg%0
|PE|=h-x,
P :the—_y:xsine + ycosD .
J1+tg®0
| PD| - | PF| =| PE| 2
x2sin20 -y2cos?0 =(h-x)2, (1)
X2c0s20 -2hx+y2c0s20 +h2=0.
cos20 (0% )
2
2 _ 2h X+ V2 + —
cos’0 cos’0
h 2 2 2 1'00529
X - +y° =h*
( cos’0 )y cos'0
h ., sin .,
X - +y° =(h .
( s’ )7y = cos’0 )
h sin@
,0)
cos’ 0 cos 0
h
A AE’ OA, OE = !
cos’0
hsind A , A OA.
cos’0
Y i
5P
E
0
P B F
B
) | PD| +| PE[ =| PF|
XsinB -ycosB +h-x=xsinB +ycosO ,
x+2ycos® =h. (
h
h,o) C 0,
(h,0) ( Zcose)
@.C )

X2sin20 -y2c0s20 =4y2cos20
5y2c0s20 =x2sinZ0 ,

)

,AE'



1
=—1tgb - Xx.
y NG g

| Po| +[ PE[ | PF| y>0, NG
x(1+i sind ) =h.

J5
« = h _ 5 |
1+%gne \/§+25ine
1 J5h
y_QE. J§+dn8'
htgq
/5 +2sin®

tgo

( J/5h htg®
J5+2sn@ J5+2sim@

hsind
E \, coss g
-“-
Cik,0) E
OP X a,
y
tga ==,
g X
cosa _L sSina = y
\’x2+y2 ! X2 +y2

| op| = ey,

| PD| =| OP| sin(® -a )=| OP| (sin® cosa 6 -cos6 sina )
=xsin@ -ycoso ,

| PF| =] OP| sin(® +a )=| OP| sin® cosa 8 +cos@ sina
=xsin@ +ycosO .



1979

1. y=2x2-2x+1 ;
2. [(1+sin20 )2-cos*0 ][ (1+cos?0 )2-sin4d ].
3. . Vq , Vs
mying, My2N,.
?
4. ]
5. ) ) D:g A
B A B Sy, A B :
P A BAP=a , B ABP=B . o P
?
6. 1939 100 1979 500.
, ? : Inx
e=2.718 . x<0.1,
In(1+x)= x. 192=0.3,In10=2.3
7. CEDF , D CE
A, CF B.
BF _BC®
AE ACY
C
E
4 D B
8. 0 X24y2-2x-4y+4=0 P.,P, PP,
P
1979
1.
y:2x2-2x+1:28§<2-x+—19
20
5 .
=284 _Eg +E_EH
& 26 2 4g
2
=% 10,1
29 2
@ 167 _, .1
&% 0 T -
=1 1
2 2



2. -
[(1+sin20 )2-cos*® J[(1+cos? 6 )2-sin4d ]

=(1+sin20 +cos20 )(1+sin20 -cos20 )- (1+cos20 +sin20 )(1+cos20
-sin20 )

=4(1-c0s26 )(1+cos26 )

=4(1-c0s220 .)=4sin?20

mlvl rIlvl
ml + r]1 ml + r-]l
m2v2 n2V2
m2 + rl2 m2 + n2

mlvl + m2V2 — mlv (m2 + n2) + m2V2 (ml + nl) (
ml + r]1 m2 + n2 (ml + nl)(mz + nZ)

nlvl + nZVZ — nlv (m2 + nZ) + n2v2 (ml + nl) (
rIl + nl n2 + n2 (ml + nl)(mZ + n2)

[myvi(mytng)+mavy (mp+ng) ]z [Ngvy(Matng)+nava(mytng)].

P AB PC, C. PC=d.
PAC , AC=d- ctg
PAC , BC=d- ctgp .
S=AC+BC=d(ctga +ctgf3 ).

ctga +ctgp = %

100(1+x)40=500.
(1+x)40=5

40In(1+x)=In5. €D
1g2=0.3,
10
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y=4 5 5 gt

krt - <t ki o+ 1 (k ).
4 4



r=| z| #0.  cos® = : ,
cosd = QU | cost] > J2
2 r 2
- 1 1
U | cogt| = =r?==(| cost| +| sint| )
2 2
U | cogt| = | sint|
U |tgt|] <1
( 0<80 T[I cosB #0, |cot|] #0 | cost| = | snt| P
| tot| < 1)
: SN ,NC SC ,AB NC,
AB SC( ).
DM. AB DC,AB SC, AB DC SC
DM , AB DM.
MDC , MDC= NSC.
MDC NSC MDC= NSC, DCS , DMC=
SNC=90° DM SC.
AB SC,DM SC, SC MAB.
DS, DM( ).
SN AB DN,  AB DS( ). AR
SDC.
SC,DM SbC , AB SC,AB DM.
AB DM,AB DC, MDC ,
MDC= NSC.
, SC MAB.
DM, DS.
M,N SDC , SN DM ,
P.
PN ,AB DN,  AB DM( ).
MDC , MDC= NSC.

MDC= NSC, DCS DCM SCN , DMC=SNC=90° .



DM SC.

AB DM,AB DC, AB MDC. SC MDC ,
AB SC.

AB SC,DM SC, SC MAB.

a=3, c=2/2, b=1,
22 o2 V2
3 4 4
¥
I
1 o by
p = P = 1
1- ecosd  3-2+/2cos9
1 1
FM| =p ,=——= | EN| =p ,=———
| FM[ =p, 3-2.2cosa | ENJ =p 3+ 2./2cosa
1 1 6
MN| =p ,+p,= + = :
| | =pi*p, 3-242cosa  3+2\2cosa  9-8cos’a
6 _,
9-8cos’a
cosa =+ ﬁ
2
Tt 5n
O =— o =—,
6 6
T _ 51
, O =— o =—
6 6
.| MN|
,F1F X (



2 2
X_+y_:1
9 1
MN
ix =-24/2 +tcosa
1 . (t )
fy =tsina
i
X =-2/2 + tcosa
i
fy=tsna ,
2 2
I'X_+y__ ,
T9 1
X,Y,
(cosfa +9sin?a )t? - (4v/2cosa )t-1=0.
442
t.,t, , I+, = 2«/—00qu ;
cos‘a +9sin“a
t- t,= 1
Y% cosfa +9sn?a
| MN| =] t,-t,] =t +t,)2-4t.t,
:\/( 4V2com ., 4 _ 6
cos’a +9sin‘a co’a +9sina  cos’a +9sin‘a
,F1F> X
).
, a=3, c=242, b=1,
2 2
X_+y_:1
9 1
MN y = k(x + 24/2)( k =tga ).
2
:X_ y_zl,
i9 1
Ly = k(x+242),
y

(1+9k?)x? +36+/2k?x +9(8k? - 1) = 0.



- -18\2k2 + 31+ k®
! 1+ 9k?

242k +3k1+ K2

<

i
l
I
|
i
tot 1+ 9k? ’

- -18/2k? - 31 +Kk?
! 1+ 9k? ’

i

L

%

i 2J2k-3k/1+k?

97 1+9k? ’

| MNl = (Xz 'X1)2 +(y2 'y1)2
:\/36(1+k2) +36K? (1+k?)

(1+9K?*)?

_6+6k?

T 1+9k?

_ 6+6tg’a
C1+9tgfa

M

| EM| =x, | EM| =6-x.
| EF,| =4Y2, FEM=q.

MEF, (6-X)° =x* +(4/2)* - 8./2xcosa |

2-[2xcosn -3x+1:0,x:—1 .
3-2«/50050(
, | FaN| =y, | FN| =6-y.
EEN (6-y)2 =y? +(4/2)% -8J2yco(Tt -1 ).
1

3y+2/2ycosn =1,y=— =

y Y y 3+2\/§cosa
| MN| _ 1 N 1 6

3-2+/2cosu  3+24/2cosa 9-8cofa

@ S,=a;=b.
S,=S.p" =bp" " >(n= 1).
Nz 2 ,Symajtayt +an+an=S,jtay, a,=Sy=Sp-1
=bp"-bp"=bP "*(p-1) (n= 2).



.y _ bp™ (p-1) _
a, bp™(p-1)
az,a3 ,a,, p
(2) I n=22 |,
8:Sha _ P (p-1)bp"
a,S,  bp™(p-1)bp™
P’<1,
aS,,a,S;, ,a,S,,
P2 <1

p(n= 2),

:p2

a5, _ b*(p-Dp - b’p
1-p*  1-p°  l+p

lim@,S, +a,S;,+ +a,S))=
N— oo

limW, = lim(aS, +a,S,+a,S;,+ +a,S,)
Nn- o

n- oo

= limasS, + lim(a,S, +a,5;+ +4a,S,)
n- oo Nn- o

. b’p _ b?
1+p 1+p
a,s,,ds;, ,as,, , P?<1

n=n

W, =aS +a,S,+a;S;+ +a,5
_ 7 s &SI (09"
1-p?
, D°(p-Dp(1-p**)
1- p? '

n

:b2

2
limw, = b? + 2 P-DP
n 1_p2

N- o

(1- lim p™)
b’
1+p
b2
=15
‘W, =a,§ +a,S, +a,5,+a,5,+ +a.5,
= b? + b(p-1)bp+ bp(p-1)bP? +bP?(p-1)bP*+  +bP™?(p-1)bP™
=b? +b*(p-1)p[1+ P +P*+ +P*?],
a,S, = bP"¥(p-1)bP™ = b*(p-1)pp™™? (N2 2),  {a,S,}(n= 2
b2 (p _ 1)p 1, PZ ’ P4 ’ ’ PZ(n—Z) ,

:b2

(1-0)

P?<1



lim[1+ P2+ Pt + +pad]=_L1_
n- o 1- p2

limW, =b* +b*(p- 1)p||m[1+P2+P4 + P22

N- oo

1 b?
=b%+Db%(p-1)- D = .
(p-1)- p 1p 1+p
(1) . e<a<b , a® > b?, blna > alnb,
Ina_ Inb
>
a b
y:InTX(o<x<+oo). X>e
[ - Inx
y = vE: <0,
=% (gtw)
X
e<a<b, Ii’1>@, a® > b?.
a b
, y=169 =%,
fo(x
[a,b] f(x) ,
Inb Ina
—-—-f’ b-a) = b-a
5 (€ )b-a) = 22( a),
& (ab). e<a<hb, & >e
1-E|n§ <0.
@-@<O, a® > b?.
b a
2 : a”=b* blna=Inbb,
Ina _ Inb
a b

f(x)_InTX>(O<x<+oo)

1- Inx

f()=
©0,1) f (x)>0, f) (0,1)




0<a<1,b>0, a’ <1, b*=a’<1. b*<1l a>0,

b<1.
O<a<10<b<1, & b, f(x) (0,1) , f(@#
f(b), Ina, @, a’z b?, a” = b? . a=bh.
a b
Inx
y=fx)=— (01
X
O<x<1l ,y=f(x) x =f(y).
, b<1.
a b (0) f(a):m—a:%:f(b), Y, = f(a) =f(b) a=
a
f2(y,) =b
b a b
O<a<la =b", blog,a = alog,b, gzlogab.
a<b, —b>1, a<l, , log,b<log,a=1,
a
b b
—>log,b, —=log.b : a b.
a Ja a Ja
a>b, E<1, log,b >1, E:Iogab . a b.
a a
a=b.
a<b, b=a+¢ , e >0. O<a<le >0,
, a® <1 (1+8—)a>1,
a
a® < (1+2)°
a
€
aqt < a 1+_ a’
a’a a’( a)
aa+£ <(a_|_8 )a’
a° < b a®> =b? . a b.
b<a b<a<l, a=b+ege , e >0, b? < a’.
a’ =b? . a b.
a=b
( S ) , a ,
, al = p? ab ] a=2b=4,

a=(1+n b=+ D™ )
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5 , A,B,C,D

€)) .y x|
Q)] - ®)
©) X . ® y

) x2+y=0
Ay - (B)y
()2 . (D)x

€)
QY
()
©
®

4) 180° <a < 360° ,cosg

1+ cosa 1- cosa
(B)
2 2

1+ cosut 1- cosa
(D)
2 2

(A)

(©) -

(5)0.32,10g70.3,20-3

(A)0.32<20-3<10g,0.3. (B)0.32<l0g90.3<20-3.
(C)10g»0.3<0.32<20-3, (D)10g90.3<20-3<0.32.
) ?
X2+y2=2x x2-y2=0
¥ ¥ ]
r lr
1 I:I- i 1 1 X 1 1 I:I- ]I- 1 1 X

(1) y =~/x+5 log,(36- x%)
) 10 , 4 ,6



3 , 1

z=cosa+isina, Z° +i3 = 2cos3a
z
0 R « ).
N

[

0 |-q:—R—:u-|

, OP, h,
AB,AB=20 , A P OAP=30° , B P
OBP=45° , AOB=60° , h( ).
F
h
\EEF
A A 0
ED}R
E
. ABC BC o , ABC=60° ,
ACB=30° ,BC=24cm,A a N,AN=9cm. A
A™ NBC ( ).
4,
; 32,

11:2x-3y+2=0,
15:3x-2y+3=0.
( ) I, , 11.12
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(1)0; (2)A; (3)D; (4)C; (5)C.
@)
i
1 /—\\I
1 1 DE\\L,/I 1 X
@)
¥
1 -
;//;/ﬂ_ T x
(D) ,
ix+52 0,
1 36-x2>0,
ix2 -5
1 6<x<6
-b< x < 6.
[-5,6).
@) 3 1 2
Ci C2=60;
3 2 1
C?. CL=36;
3 ci=4
3 1
Cl. C2+C? CL+C3=60+36+4=100 ( ).
:10 3 C’, =120;
3 C? =20.
3 1

C3 -C3=120-20=100 ( ).

Z3+ isz z3+2z-3
z



=(cosa +isina )3+(cosa +isina )~3
=cos3a +isin3a +cos(-3a )+isin(-3a )
=2co0s3a

1
(cosa +isina )?

1
cos3a +isin3a

cos3a -isin3a

(cos3a +isin3a )(cos3a -isin3a )
cos3a -isin3a
cos’ 30 +sin’3a

1 -
:z3+—; = (cosa+isina) +
z

=cos3a+isin3a+

=cos3a +isin3a +

=cos3n +isin3a+

2%+ Zis (z+)3- 3(z+—)

=2co0s3a .

=8cos3a -6cosa
=2(4cos3a -3cosa )
=2co0s3a .

: 2X,
R? - x?
S=2x+R?-x%.
S=2+R?*?- 2\/—-(R44 R?x* +x*)
R* R?
:2 o X2_ 2
(BB
x2=R—2
2
R 2 R 42
X:——LR,x/R3-X2:—:£R
22 J2o 2
, S , J2R, gR , S
J2R- %R—RZ
: . 2X, 0
x=Rcosa , Rsina . S

S=2R2sina cosa .
S=R2sin2a .



2a=R a= E, 2RcosR = QR, Rsin P_ ER
2 4 4 2 4 2
S
R2.
AOP
0A=OPctg30°
= ./3h
BOP
0B=OPctg45°
=h.
AOB
AB2=0A2+0R2UP>-20A- OBcos AOB,
20° = (/3h)2+h?-2(/3n)- h- cos60° ,
400 = 3h? + h? -2 /3h?. %
400 = (4- /3)h?,
he = 400
4- 3
20
h= ()
4- /3
h 20 2 13(4 ++/3)
4- 43 13
P
h
730
o A e
Eu}k
B
N NE BC,E . AE. AE BC.
ABC
AE=BC- sin30° - sn60° =6+/3.
ANE
NE = +/AE?-AN? =33
NBC s:%- BC- NE =36/3.

A-NBC



V= =. S AN=108/3(cm3).

Wl

A -NBC 108 /3cm?.

a,aq,aq?,
j(ag +4) =a+ag?,
f(aq +4)? = a(ag? + 32).

\I,a(qz '2q+1) :8!
i
ja(q-4) =-2.

a=2,0=3, 2,6,18;

_2 2 10 50
a—§,q—-5, —

, 2,6,18

d,a,atd,
i(a-4)? = (a-d)(a+d),
182 = (a-d)(a+d +32).

jd?-8a+16=0,

1d?+32d-32a=0.

8
jd=8, i 3
ld=10 2



a,b,c,

1b® =ac,
2(b+4) =a+c,
L(b+4)? =a@32+0).
b2
c= —,
a
1a’ +b*-2ab-8a=0,
t4a-b-2=0,
P2
.I.a:§,
ja=2, TR
fb=6, th=-=,
{c=18; ! °
| ' i 50
“C=—,
t7 9
| 2618 2,-0 %0
9’ 9
a
_1a1aq)
q
i a
+2(at+4) =—+aq,
,[( ) ] aq
.I.a
I =(32+ag) = (a+4)”.
19
1ag®-2aq+a-89=0,
%4a-aq-2q:O.
jg=3 977
lazg 1a=.10
: | 9
g=3,a=6, 2,6,18.
_ ... 10 10 50
q__51a___1 U e T
9 9’09
, 26,18 3,-9,@.
9’ 9’09
M (X’y)’ r’ M |1l|2

26
d2 +(22)2 = 2
P+

d,d,.
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d2 +(£2)2 = r2
> *(5)
di +13° =d; +122,
d; - d? =5°.

q d,=| 2x-3y+2| d,=| 3x-2y+3|
1

V13 ’ V13

aé%x-2y+3('_jz_ae2x-3y+2('_52:52
& V3 6 & J13 o
X% +2x+1-y? =65,
2 2
(x+1) _y__1
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A,B,C,D
(D) x:{(2n+i)n N } y={(4k+ )Tt ,k -
(AXT Y (B)X E Y
(©)X=Y (D)X Y
) X2+y2+Gx+Ey+F=0 X ,
(A)F=0,6% 0,Ez 0 (B)E=0,F=0,G# 0
(C)G=0,F=0,E# 0 (D)G=0,E=0,F# 0
@ S G IGid?
Q) ®)
© ()
(4)arccos(-x) arccosx
Mx (0,1] ®x (-1,0)
(©x [04] O)x 0]
6 .0 :
5) 0 , 0037-S|n7:w/1-sm6 ,
»
®
©
®
@ 2 a4,
2 logy 5(x2+4x+4) ?
3) (sinx + cos()? = %
@ (] x| + -2)°
| x|
_1-2"
® Iy
(6) 6 4



10, x< 0,
1 HX=| y = H(x-1)
) >Ol
T
@) (p -2)(® --=0(p >0)
c,d,x ,cz 0,x log ,x=-1
(ex+2)
(1 pz0, z2-2pz+g=0 21,2,.
2,2, Zy,2,- z,,2,
1
(2) M(1!2)1 y ) E
ABC , A B, C abc, c=1052
cosB
zng,P ABC P A,B,C
a 3
X2
a>2, X}, X, =0 X, =—=————(n=12, ).
{ n} 1 1 2(Xn-l)( )
M)x, >2, Zeicin=12, )
Xn
1 _ :
2 as< 3 X, < 2+F(n—1,2, )
a
lg=
(©)) a >3, n= —2 , Xpg <3
la=
g3
, 0 1 I A, P
A I , ﬁ:?j —AP, PC
3
AO M. AP= ZT[ , P V. M
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MW @ 38; WA (5)8.
ox B,
TT TT
(2)x<-2;

Van Tt
{xX:Xx=——+nT1T ,N X:X=-—+n1T ,N :
Bxx == 3 ex=-g 3

(4)-20;
(5)0;
6P 6
m @
1
IC'_l :
a,B,y, anpB=c,any =b,B ny =a.
anp =c, any =b,
cl a, bl o .
c b .
(1) ¢ b , cnb=P. P ¢, cIp, P B;
by, P vy. P Bny =a.
a,b,c ( P ).
b P a b a
'”‘\E """
(1) (2)

(2 c b, bly, c vy. ciB, Bny =a, c



a,b,c

x(cx+9):1,
X
cx2+d=1.
cz 0, x? :E.
C
X , H>O.
C
c>0,1-d>0, c¢>0,d<1;
c<0,1-d<0, c<0,d>1.
Cx+9¢1 x(cx+9):1 Xz 1, x>0 XZ:E,
X X C
c£ 1-d.
, €>0d<1 c£ 1-d , c<0d>1 cz1-d ,
1-d
, X=.[—.
C
1- 1-
X = 1d log ,x=-1 , X = 1d
c (0x+) C
(x>0,
(2)cx+g>0,
X
(3)cx+9¢ 1,
X
dys_
Q@ (cx +=)" =x.
X
d
(4) NW+Q=L
cx2+d=1.
cz 0, x? :H.
C
d d
x(cx+;):1 x>0, cx+;>0, 2 @ @

(3) x(cx+%) =1, x# L
, M~@



(x>0,
OB)x£ 1,

(6))(2 = ﬁ
C

1,6 =Z>o0.

c>0,1-d>0, c¢>0,d<1;
c<0,1-d<0, c<0,d>1.
D,(B) (6), c# 1-d.

1-d
, X=./— .
c ( )
(l) : plq ’p¢ 0’21,22 L)
(-2p)?-4q<0,g>p2>0.
21,29 , 21,29 X ,

=2b=| z;+z,| =| 2p| =2| p| .

=2c=| z,-2,] :J| (z,+2,)%-42,2,|
=2\q-p*,
=2a=2Vb* +c® = 2,[q.

q>p2>0.

2
_ 2pt J4q-(-2p)°i = ps m’

12 2
Z,,2 X , X
=2b=2| p| ,
=2c=2,/q-p°,
=2a=2Jb* +c% = 2.[q..
=2| z,| =2/q.

@ : M(L,2), Y ,



1 3X
F A =, F =)
y 5 (2 y)
d My Cd=1  IMAL 1
d 2
3 1
Zx-1)2+(y-2)? = (2)?,
(2 ) +(y-2) (2)
22 2
9(x-§) +4(y-2)° =1
¥
B(l6)
o
E
- )
Olci,0)  &fz,0) E
COSA =E
cosB a’ '
cosA:sinB
cosB  snA’
SINAC0SA = sinBcosB
sin2A = 9n2B.
A# B, 2A=T -2B, A+B:%. ABC
c:10,92£,612+b2:c2 a>0,b>0,
a 3
a=6,b=8.
. ABC o, D,E,F,
AD+ DB + EC

:%OD+8+®:12
AD + DB = c = 10, r=EC=2.

(x-2)2+(y-2)?=4.
p ).



s=| PA[ *+[ PB| *| +[PC|*
=(x-8)° +y* + X" +(y-6)* +x* +y*
=3x* +3y? -16x-12y +100
=3[(x-2)? +(y-2)?]-4x + 76
=3% 4-4x+76
= 88-4x.
P , 0< x< 4.
S =88-0=88,
S =88-16=72.
, ABC r=2.

I X=2+2cosn
i _ (0 a < 2mm),
1y =2+2sina
P (2+2cosa ,2+2sina ).
S=| PA| 2+ ]| PB| *+| PC[ *
= (2cosa -6)% +(2+2sina )?

+(2+2cosa )* +(2sina -4)” +(2+2cosa )® +(2+2sina )?

= 80- 8cost .
0< a < 2m,
S =80+8=88,
S =80-8=72.
D) : X, >2(n=1,2, ). . a>2  X=
n=1 ; n=k(k= 1) . n=k+l1 ,

Xy 20 x2-4x, +4>00 (x, -2)? >0,

(Xk-2)*>0 , Xi41>2
Xn>2 n

1

1 1
X... =—[(x, -1)+ +2]>—=(2+2)=2.
o1 = Sl D)+ + A > 2(242)

k

X,>2(n=1,2, )

Xt cqn=12, ). X, >2(n=12, )
Xn

X cqg X0 <10 X, > 2,

X, 2(x,-1)
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X
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n
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X, 27 x,-1’ 2 241
n

X - :M>O1

n Xn+1
2(x, -1)
Xt cqn=12, ).
X

n

0 - ) X;=0 < 3 n=1
n=k(k> 1) . n=k+l Xy>2

1 - 1
X S 2+2—kU Xi< 2(Xk-1)(2+2—k)
“ 1 1
0 x§-2(2+?)xk+2(2+2—k)S 0

“ 1 1
U (Xk '2)[Xk -(2+F)]-FS 0

X, >2 : ,
1
XS 2+2_k
n=k+1
1 1
Xy :—(X +1+ )
k+1 2 k Xk'l
X >2
1 1 1
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P Ly 1 yolgy 13
X, 2 X -1 2 3-1 4
a
lg—
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la—
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X,=a
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a
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X2 X3 Xn+1 3 n 3 (Igil)
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DC =sn—=x,
3
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- (1- cos—X
X:y ( 3%
X .2
sin—x
3
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y=— 3"
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X-9Nn=X
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2 2 2 2 2 2 2
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3
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AM _ DM
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dy _ 2(3m *-4m -8)
ot (3 -4)?




1984

)
A,B,C,D
(&D) X:{(2n,+1)rr ,N } Y={(4kt )T k
(AXT Y (B)XE Y
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: = .

(16) - (a74x] -2<x<1(9) 1—;(19)1+%(20)3n 2

(21)

2 y=sin2x+2siNXcosx+3c0s2x

=(S1n2x+Cc0s2x)+2SINXCOSX+2C0S2X

=1+sin2x+(1+cos2x)
=2+SIn2x+c0Ss2x

:2+x/§sin(2x+%).
. T
SnQX+j[):'1 y 2- /2.

3
y X {{x|x:kp-§pk Z}.



(22)
Z°-3z+6 _ (1+i)*-3(1+i)+6

z+1 1+i+1
3]
2+
=1-I.
1-i r=J2+(D% =2, 1-]
7
tgb =-1, 0 Zn.
(23) ,
. . EG FG EF BD AC.EF
ABCD ,E F AB AD
BD EFG . , EFG
ABCD ,
BD
BD EFG B
BD AC,
EF HC.
GC ABCD,
EF GC,
EF HCG.
EFG HCG,HG
OK HG HG K,
OK B EFG
ABCD 4,GC 2,

AC 42,HO ./2,HC 3.2

BD AC H
EF BD,H AO
ABCD ,
EFG,
EFG

0.

Rt HCG ,HG +(3/2)% +22 =+22.

Rt HKO Rt HCG
HO. GC_+2x 2 2J11

OK
HG J22 11
B EFG 2—\/1_1 .
11
“ BD EFG ”

(24) ,

OK

HKO

EFG,

HCG.



(-0 ,+0 ) X1,X2,  X1<Xp,
f(xy-f(x,) = Xi 'Xg = (X, - Xz)(X12 XX, + Xg)

X1<Xp,

X1=X,<0.

XX, <O, XTHXX, X5 = (X, +X,) - XX, >0
X X,2 0, XZ+XX,+X5>0;

f(x,) - f(x;) = (X, - Xz)(xi XX, +X§) <0.
f(x,) <f(x,)
. FOO=-X41 (-0 ,+0)

(- ,+x) X1,X2,  X1<Xp,
f(x,) - F(X,) = X3 - X3 = (Xy - X, )(X] + X, X, + X3).
X;<Xy,
X1=X,<0.
X1 ,Xo ’
XZ +x5>0.

1

2 2 2 2

Xp X5 >E(X1 +X35)2 | X1X2| 2 - XXy,
2 2

X7 + X, X, + X5 >0,

f(xz) - f(Xl) = (X1 'Xz)(xi +X1X2 +X§) <0

log,x
log,a"

F(X)<F(Xq) -
s F(X)=-x3+1 (- ,+o)
(25)
log,X - 4- Iloc;i;xz +12 I:;%+ +n(-2)"
=[1-2+4+ +(-2)"']log x
= 1-(2)" log, X
3 a
%Iogax > % log, (x* - Q)
0 1 -2 ",
3 )
log,x >log,(x* -a
a>1,
x>0,
[x?-a>0,

1x>x*-a



i x>0,

01| x| >+a
%xz-x-a<0;
}x>«/5,
Ui1-/1+4a 1+ 1+4a-
[ <x<——
| 2 2
1-J1+4a _1+1+4a +J4a
<0, > = ./a,
2 2 2
1+J/1+4
, {x| \/5<X<Ta}.
1-(-2)"
) <O’
n 3
logx<log,(x2-a) -
a>1,
ix>0,
}xz-a>0,
Ix<x?-a
i x>0,
Oilx| >a
%xz- X-a>0;
%_x>«/5, }x>\/a
U I 1- J1+4a, I 1+ 1+4a
X< —F7, (X>—-
I 2 I
1- 1+4a _1+.1+4a +[4a
<0, > =/a,
2 2 2
1+4J1+4
1
n ; {x| Ja<x<
n , {Xl X>w}_

~
N
D
o’

)%,
1
<
|E\

+4/1+4a
2

}



N

1t y* -1
! a®> b’
; =\/7(X o( c=+a?+b?).
(5b2-3a2)x2+6a2cx-(3a2c2+5a2b2)=0.
X,,X,. 5b*-3a*=0, b §
a 5

5b? - 3a*# 0.

i _ ea’c
fXTXe = g e

|

i _ 3a’c® +5a’b’

$ X Xo T ——m————
1 5b* - 3a

P Q y=E(X- ) .
P(Xl’\/g(xl - C))aQ(Xzi\/g(Xz - C))
‘\/g(xl- C) . \/g(xz - C) -
X X ’

3c(X3+X5)-8%;%-3¢c2=0.
i c2=a2+p?2 .
3a%+8a2b2-3b4=0,
(a2+3b2?) (3a2-b2)=0.
a2+3b2z 0, b2=3a2,

c=+a’+b?>=2a
_ _ 2 § _ _ § _ 2: 2
| PQ| =4, (x,-x,) +[ﬁ(x2 c) ﬁ(xl o)) = 4%,

(X1+X2)2—4X1X2-10:0 -
s b2=3a2,c=2a s az=1.
a2 =1 b2=3a2 b2=3.
2

x2-¥ =1,
3



- 3a?c+ +/40ab? - 3a?c- /40ab?
“E Ty %27 '

5b* - 3a°
P Q y:\/g(x- C) ) P(Xli\/g(xl- C))’Q(Xz!\/g(xz - C))

OP 0OQ, xlx2+\/§(xl- C)- \/g(xz- c) =0.

3a4+8a2h2-3b4=0,

C2:a2+b2
(a2+3b2) (3a2-h2)=0.
az+3b%# 0, bh2=3a2.
2 3 3 2 2
| PQ| =4, (x,-X,) +[\/g(X2-C)-\/§7(X1'C)] =4
(X,-%1)2=10.

(5b2-3a2)2-16a2h4=0.
b2=3a2 , a1,
a2=1 b2=3a2 bh2=3.

2
X2 - y?:l.
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1) sna :g , a tga
4 3 3 4
(A)- 3 ®)- 5 (© (D)3
(2) (_110) ’ (110)
(A)y?=8(x+1) (B)y?=-8(x+1)
(C)yz=8(x-1) (D)yz=-8(x-1)
3) y=C0S4Xx-sin4x
(A)g ®)T ©)2m D)4
(4) P(2,5) x+y=0
MG.2)  (B)@2,-5) ©(5,-2)  (0)(-2,-5)
) 12
’ (A)12 (B)24 ()36 (D)48
© y=sn@cD)
(A)x=- 2 @)=,
_p _>»
(O)x = 3 (D)x = 4
() S—ABC ,
, S 0 ABC , 0 ABC
Q) (B®) © (D)
®) {a.} a,>0,a,a4t2aza5+a,8=25, astas
(A)5 (B)10 (©)15 (D)20
©) XS0 R xe 1),
x-1
(Ay=2"2( R x* 1)



X+5

(B)y = x R, x# 6)
X-6
_ x-1 5
©y=g s R x -3

X-6
Dy =—— R, Z -5
(O)y=-—t( R xz -5

(10) 4 5 3
1,
(A)140 (B)84 (©)70 (D)35

1D

A
(B)
©
®)

_ 1.1, 1 1
(12) i (M- Y- -2 -]

(A0 (B)1 (©)2 ()3

(13) AC 0 BC O, Ax By C O
» ®
© ®

(14) L&) [3.7] 5,

[-7,-3]
QY
)
©
®)

o1 o1 o1 O1

(15)  X2+2x+y2+4y-3=0 X+y+1=0 NG
M1 (B)2 (©)3 (D)4

(16) x=-1 y=2

17 sinx =

J§-1’ sn2 x- L =
2 4
(18) Ig(x2+2x+2)<1 ;
(19) (ax+1)7 , X3 X2 x4
a>1, a=

f(x)



(20) ABCD—AB,C;D; A

J2 3 2. AC, A
a B vy, cos2a +cos2B +cos2y =
(21D y=Sin2x+2siNXCosx+3c0s2X
2
(22) zZ=1+i, z-32+6
z+1
23 . AB.C;—ABC ,  AA ABC,A/A  AB;
B,C, a,BB BC, BB ABC
45° .

(24) {a;}

(25 a>0,a% 1,

(26)

P Q OP 0OQ| PQ| @.
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WA (@ (3)8 e (5)8
(6)A (7)D (8)A (9)B (10)C
(11)A (12)C (13)C (14)B (15)C
(16)(-2,2-) (17)2- /5
(18){x| -4<x<3 (19)1+@ (20)2
(21

'y = SINPX + 2siNXcosx + 3coS'x
= (SiN’X + COS’X) + 2SINXCOSX + 2C0S°X
= 1+sin2x + (1+ cos2x)
= 2+ siN2X + coS2x

:2+\/§sin(2x+n7)



. T
sm(2x+7):1 , y , y
(22)
Z-3z+6 _ (1+i)*-3(1+i)+6
z+1 1+i+1
_3-i
2+i
=1-i.
1-i r= 1%+ -1 2=42. 1-]
7
tg6 =-1, 0 -—p.
g 4p
(23) :
D AA ABC,
BB,,  AA, BB, :
BC A,ABB, ,
ABC , ABC 90° . ABB,
ABB, 45° .
BD AB AB D, BD AA, BD ABC.
Rt B,DB . DBB, 45° ,
DB DB, AA; a,
AB=2a.
Rt ABC Rt ABC,.
B,C, AB, a, AB 2a.
BC 2a.
S S ,
1 a’
S =JABXBC, —.
S %ABX BC 2a°.
1
v §A1A(S+/S-S+S)
1 2 2 7
== a (a—+,/a—’ 2a° +2a°)=—a’.
3 2 2
]
Ly
Bi
I

(24)

BB,

2++/2.

AA BC. BC

BC AB.
ABC



{a.} d, a;=a+(n-1)d.
1
—(= a,+(n-1)d
bn (2)
1. 1.,
bb = (5)* (5)*™

= 1 2ay+d)
=)

|
! 21
Iby+b, +by ="

1
b,b, =—,
1~3 4
— 7.
8
1 1
bl:2,b3:§ blzg,b3:2,

[ERN

a;=-1,d=2  a;=3,d=-2.
, a;=-1,d=2
a,=a;+(n-1)d=2n-3.
a;=3,d=-2
a,=a;+(n-1)d=5-2n.
(25)

ax*-2x2>q-a2

( ) O<a<l
x4-2x2+a2<0,

O<a<l ,
=4-4a2>0,
{'xz >1-4/1-a%,
i

f x? <1++1-a%.



x<-\/1-\/§ x>\/1-ﬁ
1+41-2% <x<1+41-2 .
O<a<1l ,
{ {x] -«/1+@<x<- 1-\/1-?}
3 x| V1-41-a2 <x<y1+41-2°}

() a1 |,
X4-2x2+a2>0
a>1, <0, X .

{x| -o0 <x<+00 }.

O<a<l

{ x| 1+/1-@ <x<-/1-41-a%}
}oo{x| Y1-V1-2® <x<+1++1-a%}
1,

{x| -o0 <x<to0 ]} .
aX4—2X2> a—a2

a>

( ) O<a<l ,
x4-2x2+a2<0,

(X2 -1++/1-a2 )(x? -1-/1-a ) <.
ix2-1+\/ﬁ>0,
%xz-l-ﬁ<o;
} x2-1+41-2 <0,
'If x?-1-+/1-a% > 0.

-V1++1-a% <x<-[1-v1-a
VJ1-41-a% <x<+1l++1-a°}

{ {x| -V1+41-8 <x<-/1-v1-a%}
} o {x]| Y1-vV1-a® <x<41++1-a?}

() a1 |,
x4-2x2+a2>0,
(x2-1)2+a2-1>0,
X, , a1

{x| -00 <X< 00 }.

,0<a<k1l



O<a<1

{ {x]

-\/1+ 1-a < x<-/1-41-a%)

} {x| V1-41-a% < x<y1++1-a%}

a>1

(26)

X2

a

oP

{x| o <x<+oo }.

2

2
+§:1.
P.Q
1 X2 y°
t 2 et
b oy=x+1

(a2+b2)x2+2a2x+a2(1-b2)=0,
X1 X5, y=x+1
P(X1,X1+1),0(X5,X,+1) .
J10

oQ,| PQ| =

X+l x+1
t Xl X2

|
% (X, -%,)* +[(x, +1) - (x, +1)]° = (@)2

= -1,

(X, +X,) +2X,X, +1=0,
4(X, +X,)%- 16x,X, - 5=0
i 1 i 1
= lex2 =-—-

! 3 ! 1
Ix, +%, =-7; PXatX, =- 3



227" 772
3 3

(a2+b?)x2+2a2x+a2(1-h2)=0,

-a +abva® +b? 1 -az-ab«/a2+b2-1

a’ +b? Xz a’ +b?
y=x+1
P(X1,%1+1),0(X5,Xo+1) .
OP 0Q,
X;+1 X, +1 _
Xl X2

a2+b2=2a2h2.
V10

| PQl :7,

(X%, _Xl)z +[(x, +1) - (%, +1)]2 = (@ )2,

5
X1)2 = Z

4a’b’(@* +b*-1) _ 5
(@ +b%)? 4

a+b?==

i
|
i
JTaZb2

N WIN

(JOlN|><|\J
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( )
(1) - z=i? +4/3i, argz
3 P 2 i
(A) P (B) 3 © 3P (D) 3P
2) ( ) 1671t cm

(A)4/2cm  (B)4cm (©)2/2em  (D)2cm
J3

. 1

arcsin~— - arccos(- =

2 s 2)
arcctg(- +/3)

2 2 6
(A)g (B)O (© - < (D)- =

©)

@ y=logZ(- W(x<1

(Ay=1+2%x (x R) (B)y=1-2-x (x R)
(©Oy=1+2x (x R) (D)y=1-2% (x R)
(5) ABCD-A,B,C;D; , AB=BC=a,AA;=2a, A

AC
2./6 3/6 2./3 J6
W—a B—a =2 DOFa

(6) y = SinXcosx + +/3cos’ X - g

Ap (B2 ©F O
) .
_ 5 _ 5
Bp = J3- 2cosq B J3- ﬁcosq
_ 2- +[3cosq _ 5
©p = c (D)p 2 J300sq
(8) | /x-2-3] <1
(A){x| 5<x<16} (B){x| 6<x<18}
(O){x| 7<x<20} (D){x| 8<x<22}
€)) {an} d, n Sp=-n?,
(A)a,=2n-1,d=-2 (B)a,=2n-1,d=2

(©)a,=-2n+1,d=-2 (D)a,=-2n+1,d=2
(10) c0s2x=3cosx+1



(A)x| x=2kpt Zpk 2}

(B){x| x = kpt %p,k y4)

(CHx|x:km:§pk Z}

(D){x| x=2kpz %Qk Z}

(11) 2 60° ,
(AQ4(£-—J§)T[ (B)2(2-/3)m
(C)4/3n (D)24/3n
(12) 10 , 3 . 2
(A)27 (8)48 (©)21 (D)24
(13) =R, M={x| /x2 >2,N={x| log,7>log,7},
Mn N =
(M {x| x<-2} (B){x| x<-2, x= 3}
©){x| x= 3} (O){x| -2< x<3}
14)  {ap} ) q=2,
a;r 8y ag - a3=2%, az- a* ag a3
(A)210 (B)220 (C)216 (D)215
(15)  ABC A B

(A)"A<B"  "tgA<tgB"

(B)"A<B" "tgA<tgB"

(C)"A<B" "tgA<tgB"

(D)"'A<B" "tgA<tgB" ,
(16) R (X)),

(A)F)-F(-x)>0 (x R)

BYF)-F(-x)< 0 (x R)

OF)F(-x)< 0 (x R)

OFC)F(-x)>0 (x R)

(17) y=% —X

(V26 0) (V26 0)
8 4 18 9
oA)ié«fié (B)iéxﬁﬁ§ (caié«fié (D)ié«/ié

P_
18)tg = =
(18)tg ¢



X = 2+1t
2

i
(19) ?
ly= 3+£t
f 2
(20) 0(0,0),A(0,15),B(-8,0),
1 1 1 1
21) i + =
2 I’“:1 4 4. 7 7 10 (3n- 2)(3n +1)] EE—
(22)9192 100 .
(23) A-BCD V, BC a, ABC DBC
S, S,.
ABC DBC a, sina =_.
(24) X 2a2x-2-Tax-1+3=0 2. a
(25) : a a B .
a o
1 1 1
26 1+—+—+ +—<2/n(n N
(26) NN T ( )
(27) (_116) (_11_2) X
y=2x+7 410
(28) z:
( )z +E 1< z+£s 6
z
( )z
1992

@ @0 @GC @B  G)C  (©A
(M0 (BB (OC  (A0DA (DA (12D
(138 (14)B (15D (16)C (1DA

(18)J§--1 (19)y =-/3x +3-243  (20) (;<+3)2 +(y-3)?%=09

(21)% 2281 (23 Zza\éz

(24)

2 X 2a2x-2_7ax-1+3=0
2a4-2-Ta2-1+3=0,
2a2-7a+3=0.



()

)

a=3,

(25)

a== a=3
2
1 1 1
a== ’ 2_2X—2_7_X—1+3:O
> (-7
N N
- == — :3’
(2 2 (2)
x=2,x=1+log,3
2
a=3 , 2. 3x-2-7. 3x-143=0,
3X-l - 1 3X-l :3
2
x=1-10g32,%x=2.
, a=1, x=1+log, 3
2 2
x=1-10g52.
ax-lzy, 2y2-7y+3=0,
1
Y1 = > y,=3
ax—l - E ax—l - 3
2
X 2a2x-2-Tax-1+3=0 ,
aX-l = — aX-1:3 ,
X 2
a=1 a=3
2
anPB=b. a c b
a p c B .
aEa,cl a a c
a B.
, a ¢
: a a,
a a



al a.
aEa
a a'
a a
(26)
() n=l -1, =
( ) n=k .
1 1 1
1+——+—+ +—<2Jk
2 3 Jk

11 1 1 1
R A e e
N :2m+1£k+k+1+1
Jk+1 Jk+1 Jk+1
=2k +1
,  h=k+1 ]
) ). n

%Q(JE-Jk_-l) (kT N)

o
Jk- 1<k

1 11
R LR P o R oy e

1 R
W<2(\/E- Jk-1) (kT N)

k=1,2, ,n(n N)




1< 2(</1- 0)

1
:7§r< 2(J2 - 1)

%<2(«/§- J2)

1
:7ﬁ:< 2(/n - /n-1)

1 1 1 , -
];+:E§4-:ﬁ§4- -kzﬁ:<12mﬁ§ (nl N)

(27)
: (-1,6) (-1,-2),
6+(-2) _
— =2
2
y=2.
, (a,2),
(y-2)%=2p (x-a)(p>0).
(_1’6)
8=-p(1+a).
y=2x+7 ’ y

(2x+5)2=2p(x-2),
4x2+(20-2p)x+(25+2pa)=0.
X5y1)  (X2.Y2), X X

(X, - X2)2 = (X, +X2)2 -4X,X,
:(ZOAZp)Z-(25+2pm
_(20- p*
-4
Y1=2X1+7,Y5=2X,47,
(Y1-Y2)2=4(X1-%9)?,
(4\/F))2 = (X, - X2)2 +(y, - y2)2
=5(X, - X,)?
128=(10-p)2-100-8pa,
-8pa=64+8p,
128=(10-p)2-36+8p,
p2-12p-64=0,
P1=16,p,=-4( . )
p;=16

- 25- 2pa
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1]

1
N w

(v-2)° = 32(x+)

x=a(y-2)2+b (a>0).
(-1,6)
-1=16a+b.
y=2Xx+7 y
x=a(2x+5)2+h,
4ax2+(20a-1)x+25a+b=0.
X1,y  (X2,Y2), X1

(X1=X2) %= (X +Xp) 2=4X 1%,

_ 1 2
= [(20a-1)? -16a(25a + )]

y1:2X1+7 5 y2:2X2+7 5
Y1-Y2)2=4(X1-%p)?,

(44/10) > =(X1-X2) 2+ (Y1-Y2) 2=5(X1-X,) 2.
512a2+40a-1+16ab=0,

, b 256a2+24a-1=0.
=2 a= )
qTxp %73 ’ '
b=-2,
2
1 3
X==—(y-2)?-=
29 3
(28)
T ZEXHYI, X,y R, X,y
10 _ , 10
Z+—=X+yi + -
z X +yi
I O S
=X+yi+ X1y
10 10 ..
=x(1+ +y(1-
v A vl
10
z+—
z
10
1-—)=0
Y-S5 ?)

=0 x2+y2=10.



, 1<z+£s6
Z

0 g

X2 +y

y=0 , x#0

1< x(1+

1<x+£s 6
X

x<0 X+E<O
X

x>0 x+%2 2 /x. %O=2JE>6,

I<x+ E <6
X
x2+y2=10 1<2x< 6,

1<xs3

2

z (), x vy
ix=1 ix=1 1ix=3 ix=3
| i |
Ty=3 jy=-3 jy=1 jy=-1

’ ) )
1+3i,1-3i,3+i,3-i.



1992

Cy

I+

T+
N~

( )
- log, 9
(1)I0923
2 3
(A)§' (B)1. (C)E' (D)2.
2 y=sin(w x)cos(w x) 4t ,
1 1
(A)4. (B)2. (C)E : (D) 2
€©)) p =cos@ p =sind
(A)2. (B)/2. (O)L (D)lgé.
4) S1N4XCc0S5x=-c0s4xsin5x
(A)10° . (B)20° . (©)50° . (D)70°
®)
(A)6:5.  (B)5:4. (©)4:3. (D)3:2
(6) y=x" n
C, C C3 C4 n
11 1 1
(A)-2,-E,E,2. (B)Z,E,-E,-Z.
1 1 1 1
(C)-E,-Z,Z,E. (D)Z’E’_Z’_E'
¥
1_
0 '1
(7) log,2<log,2<0,
(A)0O<a<b<l (B)0<b<a<l
(D)b>a>1

(©)a>b>1



Ix =tsin20° +3,

8 t

®) %y = -tcos20° ( )

(A)20° . (B)70° . (©110° . (D)160°
€)) :
() (B2 . ©3 . (D)4
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n=k+1
(1+1)(1+1/3) (1+1/2k-1) (1+1/2(k+1) -
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